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QUESTION 1

The vSphere administrator needs to migrate a virtual machine from one ESXi 5.5 host to another ESXi 5.5 host. The
virtual machine has a virtual disk that is stored in local storage. Assuming only the vSphere Essentials licensing is in
place, which technique should the administrator use to accomplish the migration? 

A. vMotion migration 

B. Cold migration 

C. Enhanced vMotion migration 

D. Storage vMotion migration 

Correct Answer: B 

 

QUESTION 2

Users in a Provisioning Group need access to an existing vCloud Director vApp that consists of a complex application
containing multiple virtual machines. VMRC access to the virtual machines is required. Which type of vCloud
Automation Center Blueprint should the administrator create for this Provisioning Group? 

A. Cloud vApp (vCloud Director) Global 

B. Multi-Machine Global 

C. Multi-Machine Local 

D. Cloud vApp (vCloud Director) Local 

Correct Answer: D 

 

QUESTION 3

An administrator is migrating 135 virtual machines from a vSphere Standard Switch to a vSphere Distributed switch. The
migration reports an error and only some of the virtual machines are transferred. What is causing the error to occur? 

A. The vSphere Distributed Switch was created with a single, default port group. 

B. The switch has become disconnected from an ESXi host. 

C. The port group on the vSphere Distributed Switch was not configured with an Elastic port binding. 

D. The virtual machine that failed to transfer did not have a network adapter. 

Correct Answer: A 

 

QUESTION 4
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Which workflow should the administrator follow to create a High Availability (HA) cluster? 

A. Select a datacenter, create a cluster in the datacenter, add resources to the cluster, enable HA, and configure HA-
specific settings 

B. Select a resource pool, create an HA Cluster in the resource pool, add resources to the cluster, configure HA-specific
settings, and enable HA 

C. Select a datacenter, create an HA Cluster, add resources to the cluster, configure HA- specific settings, and enable
HA 

D. Select a resource pool, create a cluster in the pool, add resources to the cluster, enable HA, and configure HA-
specific settings 

Correct Answer: A 

 

QUESTION 5

An administrator deploys a virtual machine and receives the following error message: 

This port group has a fixed number of ports (default is 128) Which port binding should the administrator 

select to correct this issue? 

A. Static 

B. Dynamic 

C. Ephemeral 

D. Override 

Correct Answer: C 
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